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Lesson One

BFEERERT

1. EHRER
1) RERFHEREE, SRREARMBEEEITETHK
HELNBEEAT. FREEZINRSMESTERNET .
2) PR as MEMAR TR HE.
2, ®ICHE
1) comprise
a. Atoms comprise (= make up) all bodies.
b. Our course of study comprises (= consists of) politics,
English, chemistry, physics, etc.
2) formula
SMF, HEBIER L formulae, #HER formulas,
8) remain
a. In any transformation of energy, the total amount of
energy remains (= continues to be) constant.
b. If you take 8 from 8, 5 remains (= is still present).
3, E%kFE
1) (3—Bt) Any chemical process in which certain sub-

stances are converted into other substances is called a

chemical reaction.

AP UNELEHEBAE, RRRAETAHEE. XH,

a. A rectifier is a device by which alternating current

1



is transformed into direct current.
b. A single force may be broken into two or more forces

to which it is equivalent,

2) (% =B) They react to form carbon dioxide as a pro-

duct. -
R R =ZEHRE,

3) (=B) Furthermore, the reactant formulas are se-
parated by plus signs which are not intended to mean
a mathematical plus but rather should be interpreted
as “and”.

RIR AL Ho £ BH R i

4) (45—Bt) These changes occur as chemical processes.

RIEAE B 78

as QAN EREFUTHEHNER.:

A. 5—2zhiE, i1 regard, define, consider 53tNg,
5 B EEER B R ER EEHRE, m.

a. We consider radio waves as radiant energy.
b. The atom of any element is pictured as resem-
bling the solar system.

B. RA“ERHER, SR EE R EE, W,
a, Electricity is especially convenient as a means of
mechanical power.
b. Metallurgy as an applied science treats of the
deriving of metals and their special properties.
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B. kBRI ERE AR, TEYERYEE—F
PR AR E R
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RAERY-RAK. B, RITYE, BREENER= & kLK,
KRR 12 5 T A SR H BRE R MR, L2HBER
DI ALIER S R ER A TR T5 & R R B4
TR “+7 BATF, XA+ SHEREE W W, TS
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= (1)

C+0;—>C04

EAERE T, HRXEYFETLST HRFERER SR

3k,

MR LPWRE, HEAZEBENFSHT FOLE. F

H, REFH&EEMTENLERTERERRTFZE. HTHRT
EAZEREFREASHEHERE, UASBEHE, HEREY
HERBELRETERYNBRE.

1. 1)

2)

3)
4)

5)

6)

7)

8)

% 38R
A compound can be decomposed into the constituent
elements.
We call the initial substances reactantsin a chemical
reaction,
Yes, it does.
The main chemical reactants are carbon and oxygen
gas in the air when we burn charcoal.
A chemical reation can be represented symbolically by
a chemical equation which includes the proper formulas
for the reactants and the products.
The symbol “arrow” means ‘“react to produce, yield
or give” in a chemical equation.
Certain chemical bonds are broken and new combina-
tions result in a chemical reaction.
No, they can neither be destroyed nor created in a
chemical reaction,
are used ~ 2) should be interpreted

occur . 4) are separated



wy

3)

4)

5)

1)

8)
5)
7
9)

are occurring 6) must be included

iezvolve 8) are involved

d 2)e 3 a 4 f 5 c 6Db

F 2) T 8 T 4 F 5)F 6) F 7) T 8) F
The chemical equation C+O,—CO, indicates that
carbon reacts with oxygen to form carbon dioxide.
Substances can neither be created nor destroyed,
but they can be changed from one state to another.
Changes of reactants into products involve the breaking
of initial chemical bonds and the forming of new chemi-
cal bonds.

The burning of wood is a simple chemical reaction,
whereas the growth of a plant is a series of complex
chemical reactions.

In a chemical equation, the reactants and products are

separated by an arrow.

A chemical reaction accounts for the rusting of
metal, the burning of fuel and the formation of
petroleum.

will change 2) are, possesses

are called 4) transmits

is being built 6) causes (can cause)

can represent 8) is, have been absorbed
will take place, are 10) thought, was

brought

Chemical symbols are used for representing the

cemmmmnltian Af g compound.




2) In doing an experiment in chemistry great attentiom
must be paid to the reaction conditions in. order to:
get good results.

8) Electronic computers are often used by scientists,.
especially by physicists and mathematicians.

4) A chemical reaction can be described by the indication:
of the reactants and products.

5) Heat and light are given off by some chemical’

changes.
6) The young scientist is improving his new invention,.

7) This waste gas will be made use of to produce
heat.
~ 8) The plus signs separate the reactant formulas.
9) We have been supplied with a large amount of crude-
oil by these oil fields.
10) The temperature as well as the pressure of the tower
is measured by us at nine and eleven every

morning,
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Lesson Two
HEERGRT

1. BayRER

1) JEERSCH A B EESIN AT EE R UHR.

2) W% 3,6,7, HiFABBERILHN AL,
2, HICHHE

1) somewhat

a. This machine is somewhat different from that one.

b. In this respect, the computer is somewhat similar to
the human brain which also stores information that
can be retrieved as needed.

c. Trying to hit a nucleus with a proton-neutron bul-
let is somewhat like trying to hit a particle of dust
in the air with a rifle bullet fired at random, when
there arc only a few particles of dust per cubic mile,

2) just
I just can’t help thinking of things made from plastics
as imitations, as cheap substitutes.

3) in spite of

a. In spite of (= despite B, in despite of) all its ac-
complishments, the so-called electronic brain must
be programmed by a human brain.

b. In spite of everything a laser can do, the pulse from




1)

the largest laser ever made doesn’t contain enough
energy to boil a kettle for a cup of tea.

nothing more than

Most machines 1n the workshop were automatic, so 1
saw nothing more than twenty workers there.

3. EFAE

1)

2)

3)

10

(88B) “That can make it possible for us to enlarge
a drop of water enough to see one single atom —
atoms are so very, very small”’. At “it B EE)
+RENEERER (EEXE SN, LA,

a. There is the micro-electronic instrument that makes
it possible for the blind to read conventionally
printed magazines and newspapers.

b. Electronic methods make it possible for information
both from within the control system itself and from
outside sources to be electronically processed.

AE8 “It takes 4 sb, (sth)) +n. (Eid) + inf”

a. It would take three weeks to tell you the whoie story
about oil.

b. It took him only 10 dollars to buy a radio.

c. It took him two weeks to finish the scientific experi-
ment,

% “adj. + enough + inf.”

a. Owing to the invention of the laser, man has built
a light strong enough to illuminate a celestial body.

b. This transistor radio is small enough to be held in

the hand.

Ew Y % S 9
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